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1.

e booklet read instructions
t page and back page of the

Immediately after gettin
carefully, mentione

question bookle doWot open the seal given on the
question bookl asked by the Invigilator.

Write your wer-sheet No., in the specified places
given abo ut your signature.

Maf all entries in the OMR Answer-Sheet as per the given
insttuctions ®therwise Answer Sheet will not be evaluated.

opening the seal, ensure that the Question Booklet
3) total no. of pages as mentioned above and

crepancy is found, inform the Invigilator within 15
minutes and get the correct Question Booklet.

While answering the questions from the Question Booklet,
for each question choose the correct/most appropriate option
out of four options given, as answer and darken the circle
provided against that option in the OMR Answer Sheet,
bearing the same serial no. of the question. Darken the circle
only with Black or Blue Ball-point pen.

Darken the circle of correct answer properly otherwise
answers will not be evaluated. The candidate will be fully
responsible for it.

There are 150 objective-type questions in this booklet.
1 mark is allotted for each correct answer and % mark
will be deducted for each wrong Answer.

Do not write anything anywhere in the Question Booklet and
the Answer Sheet except making entries in the specified
places otherwise OMR Answer-Sheet will not be evaluated.

After completion of the examination, only OMR Answer Sheet
and cover page of Question Booklet is to be handed over to
the Invigilator. Carbon copy of the OMR Answer-Sheet and
Question Booklet may be taken away by the examinee.

This Question Booklet consists of following parts :

Part — (A) Computer Related Knowledge — 1-20
Part — (B)
(1) General Hindi — 21-30
(2) General English — 3140
(3) General Mathematics — 41-70
Part — (C)
(1) General Mental Aptitude — 71-85
(2) General Knowledge - - — 86-120
(3) Current Affairs —121-135

(4) General Knowledge of State —136-150

In case of any ambiguity.in English version, the Hindi version
shall be considered authentic.
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"M—A / PART—A
HPIE §Eth 79 / Computer Related Knowledge

1. T o1 saTel s form & 8 g
27

(A) BiHT
(B) AT
(c) dfm
(D) IfHT
2. WXH gL A 3G W B g e

e HIg F 63 & fo1e I 4 3
FTEAT IYHT FIT HEeATdl 8 7

(A) THE e
(B) & wEE
(C) wTg %A
(D) frx

O
3. FHRE H HH-HI

S 8 el 872

(A) TS
B) o o q\o

(C) U= T
(D) fm

1. Most applications of robotic are used in
area of

(A) cooking

(B)
(©)

manufacturing
teaching

(D) farming

ed in stores to directly
uction code printed
ct%sold is called

read univer:
on each

M Qr’)de reader
\ ¢
laser light

O( spy cam

(D) printer

3. Which component of a computer
connects the processor to the other
hardware?

(A) Motherboard
(B) CPU
(C) Punch card

(D) Chip

% % % U g / SPACE FOR ROUGH WORK
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4 Wﬁmaﬁﬁjﬁawaﬁ;ﬁm 4. What is the name of program that
' T T R controls the computer system?
(A) ETERR (A) Hardware
@ . -(B)- Keyboard- =
(C) Software
(C) HTRER
(D) Mouse
(D) #R"
5. e Rt U T @) B R w 5. What best describes how an inkjet printer
27 '
(A) T FpR TN * fore v To |
T Ele N
\ B) Spray-printing a character
B) W H B -fifen & Q
(C) Striking an inked ribbon

(C) ¥ N W WI3H Hlh

(D) Dropping ink onto the paper

(D) HIS W Qe iR ﬁoQ
L 2
6. What is another name for a dot matrix
6. =iz Afyww e 27 printer?
(A) 3R ﬁm\ (A) Impact printer
(B) Ut firx (B) Page printer
(C) o i (C) Spray printer
(D) s et (D) Line printer

% % % fiu s / SPACE FOR ROUGH WORK
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7. e 8 @ H-u s TR fren a@
27
(A) ==

(B) o -
(C) s
(D) 3=

8. = & ¥ wm-w - sArmfen
fireem 22

(A) THo THo-3M@
() I
) v
(D) (A) 3R (C) &t

9. THo THo FHAMhH TIWIW JU o 1Y
-1 Tefie Veiehs™ AT 87

(A) THo THo-TE
B .
(B) o THo-TFHT . O
(C) WHo THo -3
(D) WHO mo—wﬂ’&
10. TTURUE: | Hal W fie g 87
(A) T8 I8 W
(B) 3fa¥ Y8 W
(C) |+t g8l |
(D) &W I8 W

7. Which of the following is not an operating
system?

(A) WINDOWS

_______ (B)._LINUX_ . - .

(C) DOS
(D) Oracle
8. Which of the following is single-user
operating system?
(A) MS-DOS
(B) UNIX
(C) XEN
(D) and (C)

L 4

9. i h‘one is the spreadsheet application
comes with MS-Office software

Qe

(A) MS-Word

(B) MS-Excel

(C) MS-PowerPoint
(D) MS-Access

10. By default footers are printed on

(A) first page
(B) last page
(C) all pages

(D) even pages
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1.

12.

13.

14,

$THE g ITA TR SR 9T HER
Tierhiet B
(A) WWW
(B)_HTTP
(C) TCP/IP
(D) FTP

frafoafaa § @S- JeEEe ST
Tt oMl ot feraeor ¢ift 2

(A) www.google.com

(B) www.justdial.com

(C) www.localshops.com

(D) www.yahoo.co.in

U qoes Rt Tum 3mge do
TERY WS SATRIE T GERIT Heh
T Jeaeh T gHSAT Ll &, Heerdl &

(A) BT

(B) Hfdd Ht TP Q
(C) el : O
©) b @
Th hHX W g &

3 SO T TR FHA T 8, FaeAl
?

(A) T T
(B) ZNH &E
(C) &= Twm
(D) SSER T

1.

12.

(B) justdial.com
(©) &Ishop&com
&>

‘:‘S

14.

The communication protocol used by
Internet is

(A) WWW

B) _HTTP
(C) TCP/IP

(D) FTP

Which one of the following websites will
give you details of local shops?

(A) www.google.com

ahoo.co.in

Ktechnique in which a program attacks
a network by exploiting IP broadcast
addressing operations is called

(A) Smurfing

(B) Denial of service

(C) Sniffing

(D) Spoofing

A computer virus normally attacks itself
to another computer programme known
as

(A) target programme

(B) Trojan horse

(C) host programme

(D) backdoor p;ogramme

% M % T 98 / SPACE FOR ROUGH WORK
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What is the full form of VGA?

15. VGA %1 T &9 #1127 15,
,,,,,,,, (B) -Video Graphics Application (B) ~ Video Graphics Application
(C) Video Graphics Array (C) Video Graphics Array
(D) Visual Graphics Array (D) Visual Graphics Array
. . 16. Which one of the following is not an
16. Fefciied & -3 T 30 wige Bt image file format?
T 87
(A) .im
(A) .img
® ‘(B) n
-png IS
\ tif
() tif O
. (D) .pg
(D) .jpg
. O:j
17. 178 S drar % 17. 1TBis equal to
(A) 10° GB ’& (A) 10° GB
(B) 10° MB (B) 10° MB
(C) 10° KB (C) 10° KB
(D) I &t (D) Al of the above
1% % % {98 S8 / SPACE FOR ROUGH WORK
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18. fewp dam & an ¥ o Tl R?
(A) 36 > faferet > e
B) fafetet > a9 > 3%
(C) % > Taret > ffere

(D) fufdet > ¢ > T

19. frafoRaa 3 & SF-31 U T A Wiew
T 87

(A) Android
(B) i0S
(C) Chrome
(D) Gmail
O
20. I&IE & O b SR 87
(A) f%r%?ﬁm\?\%'
B) fafen e
(C) fafEn s=entén

(D) fafen v

18. What is true about disk structure?
(A) Track > cylinder > sector
(B)  Cyclinder > sector > track
(C) Track > sector > cylinder
(D) Cylinder > track > sector

19. Which ong of the following is not a
produc gle?

@G)ﬁroid
L 4
Q\(B) i0S
(C) Chrome
(D) Gmail
20. What is incorrect about the features of
YouTube?
(A) Video uploading
(B) Video analysis

(C) Video downloading

(D) Video searching

% % & foe s / SPACE FOR ROUGH WORK -
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9yi—B / PART—B
(1) &= 7= / General Hindi

21. TR YO % TR T 0T ok PEI: fohe 24, Frefafea & @ Fu @iy vt A

g 87 IETET HIA-F1 87
& < ) T+ et =
(B) o=
(C) =M ‘ (B) TE + Iogd = UgIEd
(D) 37 # & Fre T ‘ ’
(C) WY + 3 = Tl
22, ‘“SEl Y ST H Hiqar H @ THI],
75 ft od & feg R @A ° 9E -
RpE YR 1 T 87 ) ab@-aw
(A) Frames gda™ .
B) freeaEs aeam 250 Wm-q%i%ﬁﬁl i | yifmm
(C) HevaTaH A O . |
A - |
(D) FAFIT=RETES T & ) @QT’B’W@ .
\Q‘ Tm-ore Gl A T |
23. fmfafeaa & @ wb-a1 a9y
e fi i ‘«’J@ B) = = @l 2, T =t <= it B!
(A) L2l GECS
ard 211
(B) 9% 3 INI § F&l TaAl Ul, TGl
l (C) T8 T 2 A AW IE h BEA,
(C) TR foawh & o @ @ g% # 8191 W 3! FS T wHe ° 3|
- b (D) U WETER &7 i A8 93t 313
(D) I Tft Wl | N S SE A S

% &1 o f9u smg / SPACE FOR ROUGH WORK
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26. 381 B¢ % Ydh 91 § freht AEnd B

27.

28.

27

(A) spHEST: 13,11, 13, 11
(B) sH™: 13,13, 11, 11
(C) A% 11,13, 11,13

(D) shHRT: 11,11, 13, 13

faaferiaa & & eF-a1 75g ‘37 ITIgH
a?

(A) =4

(B) 3UTR

(C) 3T
(D) 3T w+ft

29, fr=faritad =t faereal § yem wee & @1e

L 4

A o7 wee 21 390 W T IS o et
I} 1 wE) fohed BA-T 87

(A) FH—IASH, g, F901
(B) AM—Udd, Ug, HiY

(C) fest—smgm, for, afa

(%& B, 3w

*

0. Frafafgs & @ $-u1 W= ‘&9 W=

1 T weg TE & 7

(A) 3d

(B) =T

(C) FA

(D) wfew

W R % T S8 / SPACE FOR ROUGH WORK
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(2) | 31T / General English

31. Choose the correct feminine gender of 34. Fill in the blank with the correct
the word 'stag'. preposition :
(A Vixen He leaned _ the wall.
(B). Hind (A) above
(C) Filly
(D) Goose (B) to
32. Fill in the blank with the correct (C) against

pronoun :
Rama and were present in the

class. (D) Q.,)O

(A) me ‘N .
3 ect the correct passive form of the
(B) them O en sentence :

©) |
You cannot pump the ocean dry.
(D) her
9 (A) Pump the ocean dry.
33. Choose the correct conju d fill
in the blank :
—_youtry, you ‘& succeed. (B) The ocean is dry.
(A) Unless
(B) If (C) Cannot the ocean dry.
(C) As
(D) But (D) The ocean cannot be pumped dry.

% &1 % fofw smg / SPACE FOR ROUGH WORK
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36. Choose the correct narration :

37.

Rishi told him, "Your bag is new."

(Ay—Rishitold thatmy bagwas new.
(B) Rishitold him that his bag was new.
(C) Rishitold bag was new.

(D) Rishitold bag is new.

Which is the correct spelling for the word
meaning 'a friendly relationship'?

(A) Rappore . O:
(B) Repore ®

(C) Rapport

(D) Reppore

38.

39.

L 4

Select the correct antonym for the word
'besmirch’.

(A) Honour
(B) Condemn
(C) Criticise

(D) Appreciate

Select the gorrect synonym for the word
'wretcf@

ttered

\(g) Clumsy

40.

(C) Tired

(D) Miserable

One word substitution for 'A great lover
of books'.

(A) Biography

(B) Bibliography

(C) Bibliophile

(D) Biblical

0129/SE-QB/RCE-M/3-A
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(3) WA VT / General Mathematics

41. S Th G B 171 W WA e S g,
At JTEA 40 <ar B1 I W T H 19

T T e S, d1 %ol 99T g ¢

(A) O
B) 1
() 2
(D) 9
42. T (20137°° % FHE H WE W
HIA-T1 3 BT ?
(A) 1
B) 3
) 9
D) 7

43. (2312 1 (102)2%) @
{(213)'%3 1 (120)'%%}

H1 ITAE OHGETS T BT ? Q
(A) 333 O

(B) 222
(C) 123
(D) 234 ®

44. g FH-H gEY W< g § e g
1553 TS 2175 <hl W ¢ W HAN: 3 TF
5 Y o9 ?
(A) 31
(B) 370
() 15
(D) 310

41. A number when divided by 171 gives
remainder 40. If that number is divided
by 19, then what will be the remainder?

(A)
(B)
(©)
(D)

O N -~ O

42. What will be the digit at unit place of the
number (2013)°°?

A) 1 @
® 3
(C) O

+(D)
.

O at will be the common factor
of {(231%%* + (102)%3%} and
{(213)'23 4+ (120)'%3} 2

(A) 333
(B) 222
(C) 123
(D). 234

44. Which is the largest number which when
divides 1553 and 2175 gives respectively
3 and 5 as remainder?

(A) 31
(B) 370
() 15
(D) 310

1% %1 & U 8 / SPACE FOR ROUGH WORK
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45.

46.

47.

1 1 1 1
3_ 33— +333— +3333—
3 32 33 34

+33333 —15 =
3

5
(A) 333335

(B) 5

121
©) 123455

121

(D) 3703535-.

gfe x*xy=2x+5y, 99 35, 5+3 B
fopa T B 7

(A) 2

(B) 4

) 6

(D) 8 \Q
O

4 st # & Tech PPNG e

& A T A 0 e g 2

ot weeh 3 3 gl % AW

THT BEH 9T 900 WTH Bl Bl @ i

g3 H SR fra 87

(A) 200

(B) 300

(C) 100

(D) 500

45.

3—1-+33i+333i+3333——1—
3 32 33 34

+33333—1~ =
- .- .. 35
5
(A) 3333355—
® 5
121
(C) 12345 o
121

(D) 37035-3:5—

=2x+5y, then how much 3x%5

46. @
N i eater than 5«37

O

47.

o
(A)

2
B 4
(C) 6
(D) 8
From two numbers, if two times of first
number is added with three times of
secohd number it becomes 1200 while
from five times of first number if three
times of second number is subtracted it

becomes 900. Then what is the
difference between the two numbers?

(A)
(B)
(C)
(D)

200
300
100
500

% i & foT s/ SPACE FOR ROUGH WORK
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48.

49.

50.

qi=r SHURT TS 1 AN 55 & Feih
HTd SHATTA GEAS & AWM 77 Bl
gget Jvft T Ted Wt T vd g Al
61 T B T H FA<E FM 27
(A) 5

(B) 11

() 13

D) 8

TF R A & B a% 120 fro o wha
quer Y R Y AT R qAT B H A Th
80 fso o ufiy wuer & Ty & <liean Bl
arqul I % fow 3wt sited T
fepaft 27

(A) 100 fo Hio /5w

(B) 200 fho Hio /=wer

(C) 96 fro Hio /eUe

(D) 48 Tho Hio /=ueT o

>

35 efiet fizor § gy ;
firetn g

5:2 8| &0 foha
fop @18 31T 5: 3 B WC?

(A) 10 oK
(B) 25 ¥t
() 5+
(D) 12 #iX

48.

Sum of five consecutive numbers is 55
while sum of seven consecutive numbers
is 77. Then what is the difference of the
greatest number of the first series and
the smallest nhumber of the second
series?

(A) 5

By M1

50.

(C) 96 km/h

(D) 48 km/h

In the mixture of 35 litres, ratio of milk
and water is 5:2. How much water
should be mixed so that this ratio
becomes 5 : 37

(A) 10 litres
(B) 25 litres
(C) b5litres

(D) 12 litres

0129/SE-QB/RCE-M/3-A
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51.

.52,

53.

afg forelt st <t ervams 7 20% i I
YT e °§ 20% B HH W & T, @
T 3T F &F%aT § grft

(A)— 1%-aH1
(B) 4% HH
(C) 4% &
(D) = 7 gfg

T Sk $B gal T 100 § 60 it X &
@lg T 120 # 70 1 < A gl Bl

JTEHT W % TohaT 87

(A) 20%

(B) 7%

(C) 22%

5
D) 3=%
©) 3% .

>

a5 = faa
SRR G

ferelt =eg 1 2
T BT 20% B
&1 fopam wicmma 27

(A)

(B)
(C)

500%
250%
80%

(D) 96%

51.

52.

53.

If in a rectangle length is increased by
20% and breadth is decreased by 20%,
then the area of new rectangle will be

(A)
(B)
(C)

1% decreased
4% decreased
4% increased

(D) Neither increases nor decreases

A person purchasing some oranges at
the rate of 60 in ¥ 100 sells at the rate of

70 in ¥ 120. What is his profit %?

(A) )

5

(D) 37%

Cost price of an article is 20% of selling
price of that. Then what percentage is
selling price of the cost price?

(A) 500%
(B) 250%
(C) 80%

(D) 96%

% %1 & fIT S8 / SPACE FOR ROUGH WORK

0129/SE-QB/RCE-M/3-A
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54. IS U YR SIS T 10 N H

55.

56. A REEsw/Ime, @ 4a+4&©

ST & ST 2, 7 e oo 48 W)
THT & S ?

(Ay—20
(B) 30
(C) 40

(D) 374® § & B T

et PifYe =shafe =0 1 & E T 500
$ e 6 @t # g @ I #, @
24 99 a7E Ig fepat g1 Wt ?

(A) ¥ 8,000
(B) ¥ 6,000
(C) ¥ 2,000

(D) ¥ 5,000

L 4

;6§O

(A) 95°

(B) 180°
(C) 360°
(D) 215°

54. Some amount doubles in 10 years at the

55.

6.

rate of simple interest, then in how many
years it will become four times?

20

30

40

(A)
B)
\®)
(D)

None of the above

At the fixed rate. of compound interest

¥ 500 doubles in 6 years, then how much
it will become in 24 years?

A ¥ 8,0@
400

B)

In the following figure Za+ £b="?,when

Hm:
120:f I\J\?’O(’
< i
(™
= \ o
t\’
(A) 95°
(B) 180°
(C) 360°
D) 215°

% %R & fu s / SPACE FOR ROUGH WORK
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57.

58.

59.

60.

AB =182 Yo Hio a1 DE = 13 ¥o Hio
qYT AABC ~ADEF . afe ADEF )
qfEm™ 50 Yo Mo &, @ AABC 1 4T
w1 BT ?

(A) 50 o o

(B) 70 To o

(C) 110 To o

(D) 125 Fo o

T THEgYS T TS ST 39 Fo Ho
2| afy o> e faEd ) @R
72 Qo o g1, A 1 TaeRuT h wTraTEAl
T IR fopamT B ?

(A) 30 o o

(B). 36 To Hio

(C) 42 Go o

(D) 102 Fo o

YT o S Th TAT9 T ¥R 500 fho Mo
21 I goeht weft fermait 1 & Y fom
HT 20% R fear su, & e Ty

R 2 \Q
(A) 4 feo 7m0 .

(B) 8 fero 7o %0
(C) 10%0%%
D) 1251%50;1?&
3 TrEe el % Tdal & &Ehal
ITUTT 7 : 5 B AT ST HT S 3 : 1
2| T b ST ST ST foarT Brm e
(A) 143:225

(B) 225:143
(C) 25:21

(D) ST H & HIg &

57.

58.

(D)

"AB=182cm and DE = 13 ¢cm and

AABC ~ ADEF . If ADEF has perimeter
50 cm, then what will be the perimeter of

AABC?

(A)

B)
(©)

50 cm
70 cm
110 cm
125 cm

Each side of arhombus is 39 cm. If length
of its one diagonal is 72 cm, then what
will be the difference of both diagonals?

(A) 30
(B)

(CQ m
. @ 02 cm

S

60.

Weight of a cuboid made of metal is
500 kg. If all its dimensions are made of
20% of the dimensions of previous one,
then what will be the weight of the new
cuboid?

(A) 4kg

(B) 8kg

(C) 10kg

(D) 125 kg

Ratio of surface areas of two hollow
cylinders is 7 : 5 and ratio of heights is

3:1. Then what will be ratio of their
volumes?

(A) 143:225

(B) 225:143

(C) 25: 21

(D) None of the above
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61.

62.

63.

R wg% fred ¥ H-any meft g 2|
0% TTET & S 4, 5, 6 A1 8 HHE B
37T T el eFTa 81 I IR U1
Tiret g % v, A e §, o et
TR TH-T1Y el e & 7

A) 14
(B) 15
) 16
(D) IR H & HiE TG

2 3l 1 oAU THIER T HEWH
TTEd A 5083 a1 23 §1 ARG Th

3 391 8, O GEU 37 1 87

(A) 297
(B) 299

(C) 393

L 4

61. Four boys fire shots from their pistols
simultaneously. After that they fire at
every intervals 4, 5, 6 and 8 seconds.
How many times did they shoot
simultaneously after first shots in thirty

— — minutes?

(A) 14
(B) 15
(C) 16

(D) None of the above

62. LCMandH o numbers are 5083
ivély. If one of the numbers

at is the other number?

(C) 393

1
(-0081)4

lx-SEFHTH ;

(0016)%

(A) (0-75)"
(B) (0-75)
(C) (0-75)

D)y 1.75

63. What is the value of {0081)*
(0016)*

X'SI)

1
4
1 ¢
(A) (0-75)7t
(B) (0:75)
(C) (0-75)°

(D) 1.75
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64. A% °H <l oM Hifsre, et 64. Calculate the value of A when

_25° 5% 257 5?2
A= 5—6 _52 A=57X5_2
(Ay—107 R U
(B) 107! (B) 107!
(C) 10 (C) 10
(D) 102 (D) 10?

65. 35 fenfofai & we e o foenferan 6
JTq g 17 a9 g1 39 HET & Ha 65. Inaclass

35 students the average age

S A of stu 17 years. If average age
Rreres e & STy 18 a of s nd their class teacher is 18,
g, d frer it 3y 2 t is the age of class teacher?
(A) 53T S t’ 53 years
*
B) 55 5 (B) 55 years
(C) 51years
(C) 51 ad
(D) None of the above
(0) 37 3 & T \Q
4 .
. 4 . 4
66. G TH T TH Hi 7 q W, 66. If a water tank is filled e partin 8 hours,
ar T w1 3T ' Y then what time will be taken in filling
FT? : the half of the tank?
(A) 5 (A) 5hours
(B) 6 E'% (B) 6 hours
. C) 7 hours
(C) 7= ©
8 . 8
@ 3 or) (D) 7 hours
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67.

68.

69.

70.

-ax(-b+c)
-a-b

a(c - bj(-c)
A Ta-p)

x—C BT UHE T 27

a(c-b)c
a+b

(B)

b -
©) 0L(a+z)C

(D) ITY H | HE &

Qw1 fog AT 12 e % e |
20 fRotfto/ER & =T ¥ AT Bl B
foradia fean % fag B @ W =afe umelt
HT F TY T T wal 21 Ife T8

2t R F 10 fire & Fraw A frera
2, a1 3u sufs < fa o 29

(A) 4 fporito ufa =
(B) 5 fworfio wf e
(C) 6 fporto Hft =
(D) 39 H | B TE

FT A FIT 87

67.

68.

IR a:h=3:4 %, @ a2+b2;(a+f:$ '

—~ax(—-b+c)x_
-a-b

What is the value of c?
al(c - b)(-c)
(a-Db)

a(c-Dbjc
a+b

(B)

a(b-cjc
a+b
(D) None of the above

(C)

Two cars start from point A at a speed of
20 km/h at an interval of 12 minutes.
What is the speed of a man coming from

a point B in pposite direction if he
meets t rs in the interval of
10 min@
e

* (B) m/h

*6 km/h
None of the above

If a:b=23:4,then what is the value of

a® +b? :(a+b)2?

(A) 16:25 R O (A) 16:25

(B) 9:16 B) 9:16

(C) 25:49 (C) 25:49

(D) 3‘?@?5 R} (D) None of the above

T e ii 3 311?1'{ T ST 70. Diameter of the base of right circular
1059 3 @ I FHEATE Wﬁ 1254 solid cone is 10 inches and its vertical
2, A 39 U % Had! I8 H A6 height is 12 inches. Then what is the
T ? surface area of the cone?

(A) 1557 ¥9 (A) 155rn inches

(B) 155n 1 5= (B) 155n square inches

(C) 90n Ei] (C) 90r inches

(D) 90n T 39 (D) 90r square inches
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71.

72.

73.

9AM—C / PART—C
(1) ST WATER AT / General Mental Aptitude

fyaferfaa aren-3oft % Tk Tl & fow
&N 1A I -

E, K G M, , QM

Ve

(A)
(B)
(C)
(D)

L, N
S, W
I, U
K, S

f=feRaa § 8 w-a1 3= fi9 @ B
27

P, TS, TG, RReaRwqH
(A) IeTeRTaT

(B) F=

(C) TATEETR

(D) foraaqm R

O
&
;.ng@w

1,3,6,5,7,10, 11, 13, 16, 21,24
Ay 17

(B) 19
(C) 15

(D) I7YF A | HiE T

71.

72.

73.

Find the letters at blank spaces of the
following letter series :

E,K,G M, QM
(A) LN
(B) S, W
(C) LU
(D) K 'S
Which llowing is different from

} Mumbai, Allahabad,

ananthapuram

Kolkata

Mumbai

Allahabad
Thiruvananthapuram

Find the missing number in the following
number series :

1,3,6,5,7,10, 11, 13, 16, , 21,24

Ay 17
(B) 19
(C) 15

(D) None of the above
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74. B d Y -2 IS e B, S AR

feu U areR-Sof H T g
BCDFHIJ
(A LM

(B) MN

——

(C)y KL

(D) LN

75. I Fom @ fogqe fom v R

R CRGE T =
14 2 3 [c 3p 4lc CC é
2A Bw4c ? ‘4D C\ D\LD\
o Al _do 174 o (A~ di—dly o
Bl1 Dy 4|3 3 3
1 2 3 4
(A) 1
(B) 2
(D) 4 . O
76. afe ‘BADMINTON’- ™
2 ‘CBFOLQXSS’ ® \FOOTBALLS’

&I peag feram Smem |
(A) GPPVECPQX

(B) EPQWEEPPX
(C) GPQVEDPPX

(D) GPQVEDPQX

74,

75.

Which of the following will be next letters
in the letter series given below?

BCDFHIJ
(A) LM

(B) MN
€) KL

(D) LN

Find the missing figure from the answer
figure :

Problem Figure Answer Figure
1 \ c 3p 4c 4Cc 4
2 4 \ J
A D LC& D\‘ LD\
0/ llo ol 7200 0
8 |43 3 |3 |
2 3 4

76.

B) 2
(C) 3

(D) 4

If 'BADMINTON' is coded as
'CBFOLQXSS', then 'FOOTBALLS' will
be coded as

(A) GPPVECPQX
(B) EPQWEEPPX
(C) GPQVEDPPX

(D) GPQVEDPQX
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77. A ‘GORAKH’ = FHeeg . form o 2
‘769128’ ¥, ‘SHYAM’ @l Fag foman
T § ‘18714’ W, A9 ‘KRISHNA' &
Feag R SBm 9|

(A)

(B)
(©)
(D)

2981851

2991851
2891861
2990851

78. I fu= @ foqqw e Fq AT -

oo ot I o=
o
e
:'1

alsl| [alale

(A) 1
B 2
(C) 3
(D) 4

79.

\.x

Y)
&N

EI

77. If 'GORAKH' is coded as '769128',

'SHYAM' is coded as '18714', then
'KRISHNA' will be coded as

(A) 2981851
(B 299185t+— — ——
(C) 2891861
(D) 2990851

78. Find the missing figure from the answer

figure :

Answer Figure

$818|8

3 4

Problem Figure

R
N

é&ﬁ

(D) 4

79. Find the missing figure from the answer
figure :

Problem Figure Answer Figure

ekl

1 2 3 4

1 2 3 4

A 1 (A) 1
(B) 2 B 2
(C) 3 (C) 3
(D) 4 (D) 4
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80. P =t d ﬁ—@q & T hIfT 80. Find the missing number in the following

square :
33 72 45 63

33 72 45 63
27 22 ? 13

27 22 ? 13
-54—1—18 44 91 —
36 31 19 55

54 18 44 91
36 31 19 55

(A) 81

®) 28 (A) 81

©) 18 (B) 28

(D) ST A & P T (€) 18

(D) None of the above

g1. afe 0 =1 Frefa fran ST & 0000 4, 1
1 0001 |, 2 I 0010 &, 3% 0011 &,
471 0100 F, 51 0101 T 31 3l TR
Fm oft, 78 Fe ot § fage 9o 1|
Hife -

0100| 0010 | 1001
0001 ? | 0110
0111 | 0101 | 0011

(A) 0111
(B) 1000

(C) 1001 ¢ O
D) 1111 @
82. ?Jﬁ‘faﬁT?H?j%‘J,\%E&?f%‘x’,
‘Cwmady - ad ‘s AF B 4, 82. lf'+'means':' '—'means'x','x'means

'_'and':' means '+, then

as
6+3+5-4x6= 6+3+5-4x6=
(A) —22-2 (A) —22:2
(B) 184 (B) 184
(C) 16 (C) 16
(D) 25 (D) 25

T% FH % fow sg / SPACE FOR ROUGH WORK
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83, f1 d |/ whv-w1 ww fw (7) # 83. Which of the following will replace the
| yfereenfia s ? ' question mark (?)?

v

Y
> [[>=] 7

A

A

(A) (B) (A) :‘[%‘ ® @S
© ;D> (@ ©)

84. P Az % st o # Fargait

. aFrom the following pattern, find the
e I HI - Q number of dots in the next figure :
AWAY Mé IAAYIAAX
(A) 24 (A) 24 (B) 15
(C) 12 (C) 12 (D) 18

=6 % af B 3w A 85. Using the following figures, find when B

2 is at the top, which letter will be at the
ST bottom?
(A) E (B) F (A) E (B) F
(C) D (D) A (C) D (D) A

% % g sP1E / SPACE FOR ROUGH WORK
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(2) @I A/ Geéneral Knowledge

g6. fr # & HH-8 T 87
| Touf s Tt quee g Reta
grell Bl o
I Pratues mea § wge % Feifa
T B 8l
N Frateres oved § T faumHEd %
fratfa we= g 81
gty 5 o % forg fraffaa g 21
V. 3TOTEeRTe § Ugai o R Sgr
ST Hehell B
Teh AR ST M T ST A

2, Aty 1 A WS Tk &l
(A) | n v

® 1w
© 1 m o
o 1 WV

A & & wR-TmA w9d 2R

| 3= e % = 6 e
Tgafer gy <R S 2

I Tgafd, YR % qEE =R
S S e e &
& Frgfe w2

1. mﬁ,m%v@%ﬁm
A 81

quafe, I =AM  YE <R
@ off vt e 2

VI

87.

n
oo
© 1
|

i i v

86. Which of the following is correct?

|. President is elected by electoral
college.

il. Electoral college consists of elected
members of the Parliament.

lIl. Electoral college consists of elected
members.of the State Legislature.

President is elected for five years.

V. Tenure of President can be extended
in Emergency period.

V1. A person who is natural Indian citizen

can contest the election of President.
(A) |
~(B) i

«©) |()m |

\‘ ~

%l Y

Q ich of the following is/are correct?

1. A Judge for High Court is appointed
by the President.

Vi
v

il. President appoints a Judge for the
High Court with the consultation of
Chief Justice of India.

I1l. President also consults with the
Governor of the State.

IV. President consults the Chief Justice

of the High Court too.
A) |
B) I Il
€y 1 it
D) | iHm v
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88. WA 1 U AMNh fqu™ a9 1 g1

89.

g = @ foheg a7 fopa T w1 2
a8 fospa fom 1 2, s9ht awon &
HEM?

(A) Tgafd

(B) TsITet

(C) T&m =IrITeH

(D) g& Tafshe 3R ey it

us foeres, faum gy g uifa e fen
T 3R T ufteg # 9o | S5 ot
faam ww fafeq g 181 @ wn @

(A) fades =wTg 8 S

(B) e W faam uiwg gmr wha
T, A AE A S ST

(C) 3 fou™ awr 39 W
(D) I8 Tgufd =l

90. Wﬁ%&%ﬁ&m?ﬂﬂé%?

(A) ST TG hetvet
(B) WM hervet
(C) WRdR Helvst
(D) Fosreft Fetven

88. A citizen of india wants to contest the

election of Legislative Assembly but he
is of unsound mind. Who can declare that
he is of unsound mind?

(Ay—President

(B) Governor
(C) Competent Court

(D) Chief Medical and Health Officer

89. A bill having been passed by the

90.

Assembly and sent to
ouncil. In the meanwhile
ive Assembly is dissolved. What
pen?

The bill will be lapsed

If it is passed by Legislative Council,
it will become law

The new Legislative Assembly will
reconsider on it

(D) 1t will be referred to the President

Which Calender is recognized in India?
(A) Babulal Chaturvedi Calender

(B) Gragorian Calender

(©)

Indian Calender

(D) Vikrami Calender
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9. éﬁm%ma@ﬁ‘m@ﬁ%
fiedt =1 ERaTOT yraHTG 8 7
(A) 3T 27
(B) 3TI=T 28
(C) IT=BT 29
(D) 3TT=BT 30

TS T % ITEHTI B UG FA b
forwe # o W T 27

| v, Gue % ferd oft Te H aee
¥ &1 9T B "

I, T, wteg i R g gE
fepar S gehat ?

92.

1/4 G HT TEAIER HAETIH 8

N, e g % % T wed % :O

IV, Y&, Hed o achlei

wgaa & i@ g ated
V. YHE, Wﬁs%i&mﬁ

A e W § TRa
HEUTS

(A) 1 Y}

B) M i Y

() 1 m v

(D) 1 il \

D

91. In which Article of the Constitution, the
'protection of interest of minorities' is

provided?

(A)Article 27
(B) Article 28
(C) Article 29

(D) Article 30

92. What is not correct about the removal

of the Dep irman of the Rajya
Sabha?

l. 'Lﬁ?ution can be initiated in any
. of Parliament.

.
%\;he resolution can be moved after a

rior notice of fourteen days.

lll. Signature of 1/4 members of the
House is essential to introduce the
resolution.

IV. The resolution should be passed by
the majority of the then members of
the House.

V. The resolution should be passed by
the majority of the present and voting
members of the House.

(A 1 IV

B) UitV

< rmyv

D)y W v
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93.

94,

95.

Frfefea # @ frm A v  geem @
TR TTh T8 T o HTATTorR L~ Tt
Td whR At foeg e § 7

(A) o .

(D) fafdre g

e % Feforfee # @ forer femaa @ =ie
sfteft weifera oft ?

(A) ST

(B) TSt
(C) IATACTN
(D) TR

ER LTI

frefeRaa ° @ forg am
i 27

HEpid i
(A)
CYIREEET
(C) wfctshen
(D) T

93.

94

95.

In which of the following Vedic works, the
social rituals and sanskaras from
conception to cremation have been
described?

(A) Dharma-sutra

(B) Grihya-sutra
(C) Shraut sutra

(D) Vishista sutra

. To whic the following kingdoms of
the Decc hand Bibi belonged?
&

L 2

japur
B) Golkonda
(C) Ahmednagar

(D) Berar

In which of the following spheres, the
Mughals have greatly contributed to the
Indian culture?

(A) Architecture
(B) Painting
(C) Sculpture

(D) Dance
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96.

97.

98.

werem e g0 watda fFrafefaa # |
fpg e o TER Yed 3 Il
syfirent g oft? |

(A — ST STge
(B) WE Qe
(C) rgmemETe et ggae

(D) SREIH TeE

TSI TR o Sraet T fegh & yam
% omg T O RO e | 99 S
TR AT?

(A) TS oA
(B) wire femfererm

(A) TH 3TeGH TFRR @l
(B) T HigwTg 3Feft
(C) TGS HefH AR
(D) YT SR et

96.

97.

In which of the following Movements
spearheaded by Mahatma Gandhi,
Sardar Patel played a leading role?

(A) Champaran Movement
(B) Kheda Movement
(C) Ahmedabad Mill Strike

(D) Bardoli Satyagraha

At which of the following Viceroys a bomb

was thrown a time of his entry into
Delhi on cBasion of transfer of
captiaI?O

o(A) cﬂ Curzon

\ ¢
O% Lord Linlithgow

98.

(C) Lord Minto Il

(D) Lord Hardinge |l

Who of the following founded the 'Khudai
Khidmatgar' organization in 19297

(A) Khan Abdul Gaffar Khan

Maulana Mohammad Ali

(B)
(C) Abul Kalam Azad

(D) Maulana Shaukat Ali

6 $H % e sg / SPACE FOR ROUGH WORK
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99. WRd H TEAAAT % UvE W @ fhEa

‘e’ ST TRy feRam o
(A) 3= T

(B) 3R R 3@

(C) 3= forieT wa

(D) 3= w9

100. HHS TSl % S B &7
(A)  Shefes tge
(B) TSt TR
(C) fae & & s

(D) Sff s

101, S = Rl ¥ 9

fore sftrg 27 )\\Q

(A) Fgferm
(B) HIFem
(C) &

(D) i

O

ED

99.

100.

L 4

Who of the following had initiated the
'Bhudan’ Movement after Independence
of India?

(A) Acharya Kripalani
(B) Acharya Narendra Dev
(C) Acharya Vinoba Bhave

(D) Acharya Karve

Who is the father of Human Geography?

(A) O’® Ratzel

) § Karl Souwer
*

Q (C) Vidal de la Blache

101.

(D) Jean Brunhes

Bombay High is famous for which mineral
from the following?

(A) Petroleum

(B) Coal

(C) Diamond

(D) Bauxite

% &1 % foTw si® / SPACE FOR ROUGH WORK

0129/SE-QB/RCE-M/3-A

32



102. ST ®OS B
(A)

B) T

(C) e

g

(D) =™

103.
wfe B3t 87

(A) To SE!
(B) ferem
(C) %™

(D) @iferm &9

frend e €9 TR 3@ % wedm @

103.

O rowes
N

104.

102. Plantation agriculture is

(A) paddy

wheat

(B)
(C) jute

tea

(D)
Bhilai Steel Plant was established with

cooperation offich country?

(A) W many

L 4

Britain

(D) Soviet Russia

Sikaser Dam was constructed on which
river?
(A) Sodhur

(B) Mahanadi

Hasdeo

(©)

Pairi

(D)

% H % U smg / SPACE FOR ROUGH WORK
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105.

106.

107.

il w1 frama -8 el 87

(A) T
(B) UFeivg
(C) SRR

(D) TR

farsg o SMEE 1 T Wi 571 fohertet
R 87

(A) 33
(B) 63
(C) 133

(D) 163

W Ffeaewen &
mﬁaqﬁﬁm

(A) fafmio

(B) forE
(c) fomiw

1@\9131%}7@

(D) & TE &

105.

106.

Kex

O

107.

Where is the residence area of Pygmy?

(A) Kenya
(By—Greeniand
(C) Zaire

(D) Kazakhstan

What is square kilometer population
densi@world?

B) 63
(C) 133

(D) 163

Which is not included in secondary
sector of Indian economy?

(A) Manufacturing
(B) Electricity
(C) Construction

(D) Mining and quarry
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108.

109.

110.

a8 2001 T 2011 i Iafr & s A
SHEE HI GHA ghg T HR?

(A) 24-23 wiasrd
(B) 19-7 wfcera
(C) 2261 Wiasrd

(D) 374 § A IS T

e & @ el ol s FE SR B
(A) THS BT IUTG i hiHd

(B) TG TRE IE ! hHiAd

(C) & T 3™

(D) Wha TS 3T

XY
ket

S

1978-80 Y 31af¥

(A) 1966-69 i
(B)
(C) 1990-92 i (Y

(D) SWE A ¥ HE TE

108.

109.

What is the decadal growth rate of
population in Chhattisgarh during 2001
to 2011 period?

(A)--24-23 percent

(B) 19-7 percent

(C) 22-61 percent

(D) None of the above

Which of
'Nation

olfowing is called the
e'?

+(A) Qﬂe of gross domestic product

*
:%\ Price of net domestic product

110.

(C) Net national income

(D) Gross national income

Which period is called ‘plan holiday' in
Indian Planning?

(A) 1966-69 period

(B) 1978-80 period

(C) 1990-92 period

(D) None of the above

0129/SE-QB/RCE-M/3-A
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1M1. ‘e wifd’ 9 form vy gamEEft &t 111. Which Indian Prime Minister's name is
' T ST AT 27 linked with Green Revolution?

(A) Late Lal Bahadur Shastri
(A) o HeT HBIgt T

(B) o gfexr wreht (B) Late Indira Gandhi
(©) o whsht e (C) Late Morarji Desai
(D) o Tfwgr U=

(D) Late Narasimha Rao

112. "Agriculture is the soul of India."
12, “Tﬁ W <61 AT 21" T8 e fohe Who iven this statement?
feam 82

(A) o TGl TE® N
s < e Q\ B) Mrs. Indira Gandhi
(B) m

(C) Dr. Zakir Husain

()Q. Jawaharlal Nehru

(C) efo IR &N
(D) Mahatma Gandhi
(D) HgTeAT et s O
% 113. When was Foreign Exchange
Management Act (FEMA) implemented
113, wra # faeef Teree  arffem in India?
%7) e T ?
(%) L (A) 1973
(A) 1973
(B) 1991
(B) 1991
(C) 1997
(C) 1997
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114, T T VAR T TH TSR AlecHie

114. The resistances of an ideal ammeter and
an ideal voltmeter respectively are

yfeiy 8, A
(A) zero, high
I=
A =L (B) high, zero
(8) » %K (C) zero, low
© =, = (D) zero, infinite
(D) A, I
. 115. Refractive index (1) of a medium
115. U AW 1 FuFdATs () R R el depends upon
HAT 77
(A) temperature of the medium
(A) HTEIT T ATISHHA
. (B) wavelen incident light
(B) arafea femtor 1 qTeeA ,
) (C) natu hysical state of the
(C) =em Y THfa T wifaes e @
(D) 3‘T§?ﬁ oft ) ) he above
116. ﬁmmaﬁ;ﬁm@rmsﬁw%ﬁm 1&@ the following metals in the
W gEd HH T SIaied IR increasing order of their reactivity
' towards water :
I STET
. Zinc
I ¢ O
{l. Iron
. e .
Q {ll. Magnesium
V. wie \ IV. Sodium
A) It<ll<iV<l (A) li<ll<IV<l
(B) h<i<li<lV B) li<l<lll<iv
(C) M<l<Iv<l (C) M<li<IV<l
(D) Iv<ll<lii<l (D) IV<il<ill<l
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17, GEh—1 = gEh—I @ gafea = e =i

& TERE ¥ 9E I TaHd HIR
kil g
(a) S w forge F1 welten e () et
(b) weifies T S AT |1g (ii) e
(c) waifers smeTdas wrg (iii) @
(d) =T 1 g TeTh (iv) fafem
(6) w4 Fehieng (v) =i
e
(@ (b) (c) (d) (e
A) v iv il i
B) v v fi i 1]
© v i i i v
D) i fii v iv i
Q)
118. HH-¥ T & - CSin]
Sl T &7

A) Mgso4,v’\s§'

(B) CuSO,, (NH,),S0,
(C) BaCl,, NaCl

(D) CH;COONa, CH,COONH,

L 4

QQ\ ‘(B) v v ] i

117. Match List—I with List—II and select
the correct answer by using following
codes :

List—I List—II

(a) Best conductor of heat (i) Aluminium
and electricity

(b) Most abundant metal (i) Lead

(c) Most malleable metal (iii) Gold

(d) Poorest conductor of (iv) Lithium
heat

(e) Lightest metal (v) Silver

Code : &

P oo o e

Cﬁa v v i i i

fii

C) v i i i iv

(D) i i v v i

118. Which pair of solution of salts is acidic in

nature?
(A) MgSO,, Na,SO,
(B) CuSOy, (NH,),S0O,
(C) BaCl,, NaCl

(D) CH,COONa;, CH;COONH,
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119. THE R T g8 ¥ ¥ R

(A) TR
(B) I
©) foeged

(D) UPNIES

120. Taitres g0 (Jaret) Yot @ 2

(A) T I H

L 4

(B) TR wgg A )\\'Q
(C) gl 7e H

(D) TH ST % A A

2

O

119. Largest gland in human body is

(AY liver
(B) pancreas

(C) pituitary

(D) thy“b®
0)

ost green algae live in

(A) freshwater
(B) deep sea
(C)

rocky coasts

(D) hot springs
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(3) TauE™REs T2 / Current Affairs

121. 3eam e foagg & frm g 121. The name of which island of Andaman

et e g gy | Nt ot oo s o
(A) FaT G (A) Havelock island

@®) i (B) Neil island

(C) Tagm (C) Ross island

(D) F=ft g (D) Ritchie island

122. 92 WRA veyE fegl =+ fhm we @
Sredt 27 122.

harat express connects Delhi to
city?

(W) T ’\ N Mumbai
®) & (B) Varanasi
(C) HieTenrdl

(C) Kolkata

(D) == \Q
O (D) Chennai

L 4

123. gieht fereel =4, 201 %ﬂmﬁm
T 7 \' 123. Where was the Hockey World Cup 2018

organized?
A feg (A) Delhi
(B) WA (B) Bhopal
) (C) Pune
(D) YRR (D) Bhubaneswar
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124.

125.

126.

127.

R s T ) i o el g
o7

(A)  EI=E

B

(C) HIYH I IR

D) fereEwivs

QR 3w 2019 % famr TR
e fra 2w & Rewrrdt 87

(A) STUH

B)

(C) %™

(D) afskn

st % P YT H1 R T 2020 F
R areqeen i AfFas ToEr Hifvd
fer 27

(A) @3N TSl
(B) &asR
) T fg s O

(D) WISt %

mm%ﬁwww’q\mwﬁmﬁa
T W TG T R?

(A) o TferseRt I
(B) Yo GeIemer YA
() ot mran

(D) & A fire

124.

125.

126.

127.

Where the annual meeting of the World
Economic Forum took place?

(A) San Francisco

(B) New York

(C) United Arab Emirates

(D) Switzerland

The winner of Australian Open 2019,

Novak Djokovic is a player of which
country?

(A) Japan

(B) China @
‘(C) Franb

0 G

¥
city of Brazil is declared as World
ital of Architecture for the year 2020
y UNESCO?

(A) Sau Paulo

(B) Salvador

(C) Rio de Janeiro
(D) Fortaleza

After whose name the Legislative
Assembly building of this State is kept?

(A) Pt. Ravishankar Shukla
(B) Pt. Sundarlal Sharma
(C) Mini Mata

(D) Veer Narayan Singh

0129/SE-QB/RCE--M/3-A
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128. 30 TSY i fygm @ o wfquer =1 A1

129.

130.

131.

B R?

(A) ST TR
(B) SRV wed
) wH fag

(D) SIHIET IWIETE

T HTE S TP 32 39 TS & e A
¥ form et A fRm 27

(A) SRIL
(B) =

(C) I

= o 9 Topm STeuTd 1 wRa w5 TR
ST SET SATaT 2 7

(A) drerTg
(B) AU
(C) Fage

(D) Hvs

128.

129.

131.

Who is the leader of opposition in the
Legislative Assembly of this State?

(A)
(B) _Charan Das Mahant. — —
(C) Raman Singh

Dharamlal Kaushik

(D) Brijmohan Agrawal

Guru Ghasi Das National Park is located
in which of the following districts of this
State?

(A) Jashpur

State?

(A) Dantewada
(B)
(C)

(D)

Gariyaband
Kanker

Kabirdham

Which of the following waterfalls is known
as Niagara Falls of India?

(A)
(B)
(C)
(D)

Tirathgarh
Amritdhara
Chitrakote

Mandwa
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132.

2018 1 Il [EBR fersrar wifenr &
&1 Tey fha @1 ¥ 27

(A) & 2

——— ——(By S

133.

134.

135.

() ferpe
(D) BFhl

2018 3 TS GEhHR ITH oFEeh HAfHaw
=y fopg W 3 SEE 8 7

A T

(®) 3Eeh

(C) smmeft

(D) ITERRn

g0 wo Ho ke fava w9 2019

F1 ameH f= § O fem <w o e
SR ?

(A) FAUS T THICATE

(B) ATeferm N
(C) =fieve.

(D) S Td el
2o1ssﬁr§wg{wﬂﬁ§ﬂ@%&m
g 87

(A) IS Hied

(B) dfat sl

(C) =

(D) HIA S=

132. Arjuna Award winner of 2018, Manika

133.

Batra is related to which sports?
(A) Table tennis

(B) Lawn tennis

(C) Cricket

(D) Hockey

2018's Jnanpith Awardee writer Amitabh
Ghosh is a writer of which language?

(A) Hindi

(B) English

(C) Bengal®

134. 10C World Cup Cricket 2019 will be

@q nized in which of the following

ountries?

O(A) England and Scotland

135.

(B) Australia
(C) New Zealand
(D) England and Wales

Booker Prize of 2018 is received by which
of the following?

(A)
(B)

(C)

George Saunders
Paul Beatty
Anna Burns

Marlon James

(D)
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(4) T <ht T TSI / General Knowledge of State

136. Fm=ferflga § @ fra T 3 39 =9 °

o T HY qoh e R ?
(A) FTOTgE

(B) FIR

(C) W&

(D) &W

137. P A @ PR-T s W T &
T W31 YTEes, et widen @ weite

T 87

(A) T Ugld H IRY

(B) TG TS TR HT THIR
(©) T & T R 1 fwo
(D) ‘GG’ T

138.

(A fras, 1047

(B) SREH, 1947
(C) femeR, 1947
(D) SHId, 1948

136.

137.

138.

’\ “B)
ol

Which of the following dynasties had
ruled this State for the longest time?

(A) Sharabhpuriya

(B) Kalchuri
(C) Bhonsla
(D) Soma

Which of the following works is not
associatedwith the first Maratha ruler of
this

3imbaji Bhosla?
@Qtroducﬁon of 'pérgana’ system

Amalgamation of Ratanpur and
Raipur

C) Construction of Rama temple at
Ratanpur

(D) Introduction of 'subedari' system

In which of the following months all the
feudatory kingdoms of this State were
merged in Indian Union?

(A) September, 1947
(B) October, 1947
(C) December, 1947

(D) January, 1948
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139.

140.

141.

142.

59 TS ¥ gatt wm & Frefafea § @
F-T1 U TEY Ales S 82
(A) BER

(D) SRIgLU1e

=g U9 1 Drefaiea 3 ¥ -9 A
T 8 STgfa Se o6 forg i
T 27

(A) st

(B) I

(C) HWTG

(D) g

G TS 3 2019-2020 T H HY &
¥ o Prefafaa 8 @ feart el
e foman T B 7

(A) 21,597 IS

(B) 22,400 HS

(C) 25,295 S .
(D) 26,350 FUS
freferfea o @ wF-
HIE! fera ard
yferera i wrfier 87
(A) Femg St
(B) TIRI TS HFHI
(C) WReTrEE Hrrfl
(D) o o do Hio

139.

140.

141.

142.

Which of the following 'pat' is the highest
in the northern part of this State?

(A)
(B)
(C)
(D)

Main pat
‘Samri pat
Jarang pat
Jashpur pat

Which of the following Lok Sabha
constituencies of this State is not
reserved for Scheduled Tribes?

(A) Bastar
(B)
(©)
(D) Rai@
Whic@the following amounts is
alldcatéd for the agricultural sector in the

Kanker

Saran

bubiglet of 2019-2020 of this State?

AO

(A) 21,597 crores
22,400 crores
25,295 crores

26,350 crores

(B)
(C)
(D)
Which of the following companies is the
51% shareholder of the Bharat

Aluminium Company of Korba in this
State?

A
®)
©)
©)

Reliance Company
Tata Steel Company
Starlite Company
NTPC
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143.

144.

145.

146.

wreey fafecar & &g TWHR H
frafofaa o @ Si9-dt @ @ T o
AN I TE R 7

(A) TUTH T AT

(B) g Sfi AT

(C) TSI WA FISHT

(D) SuTEEt faferen AT

9 759 # f=fefea & @ fom a3 #
Tfte el frem writa 98 22
(A) TA-TR &F e
(B) GrEmE Hia&
) wafies e
(D) Tameed Fard

frferiaa @ @ few &9 § 39 U9 3@
gfcas Jo ewre I TFE feam S
27

(A) ETETREh HewTE
(B) e .

3 TS Sl WERATA YA~ 110 o T
fr=forfaa & @ e <rewfia =1 g9y 27
(A) SIS

(B) @

(C) & i

(D) @i

143.

144.

ey

146,

Which of the following schemes of
medical care of the Central Government
is implemented in this State?

(A) Pradhanmantri Swasthya Yojana
(B)_Ayushman Bima-Yojana
(C) Ayushman Bharat Yojana

(D) Pradhanmantri Chikitsa Yojana

In which of the following areas the Rajiv

- Gandhi Mission is not working in this

State?

(A) Water collection area management

(B) d Safety

( ary education

D Health services

In which of the following fields the Pt.
Ravishankar Shukla Award is presented
by this State every year?

(A)
(B)
\®)
(D)

Communal harmony
Literature
Social service

Emancipation of women

Which of the following folk-songs is
related with the traditionally nomadic
community of this State?

(A)
(B)
(€
(D)

Dholamaru
Dewar-geet
Jawanra-geet
Dhankul
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147. =T\ U9 & Feafoiaa 4 @ frg smefa

148.

149.

150.

} ‘wE el Tefia 8
(A) g

(B) g&al

C) Ffem

D) QR

=g T % Teferfga 3 & form sheeiia
TR AT FHAR 1 TftaETE W €9 §
s feRa ST 27

(A) Wl

(B) g3

(c) ufifia

(D) sErfia

ﬁn{%ﬁhﬁﬁﬁ%&rmﬁwm%ﬁ
o YENE JEST FTTET TR W M
ST 87

(A) EHIEHETCH
(B) srglieTeh
(C) Rrarac® O

(D) dEATEEH %
wwﬁwrr%wéﬁ?msﬁa

HH i ?

(A) TS S
(B) Iwn <&t fg
(C) Tt ¢
() firft @

147.

148.

To which of the following tribes of this
State the 'Parab' folk-dance is related?

(A) Maria
(B) Dhuruwa
(C) Muria
(D) Dorla

In which of the following folk-songs of this
State the 'Sarangi' or 'Ektara’ is used as
musical instrument?

(A) Bharthari
(B) Sua

(C) Panthi-
(D) B

‘ .
149, ich of the following Pt. Buddhaditya

150.

erjee of this State is known
ationally?

(A) Harmonium player
(B) Flute player
(C) Sitar player
(D) Tabla player

Who of the following was the first woman
member of Parliament from this State?

(A) Saroj Pandey

(B) Rashmi Devi Singh
(C) Rajmohini Devi

(D) Mini Mata
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Time for marking all 150 questions : 3 Hours Maximum Marks : 150
ez —
ser| A
s NOTE
1. <9 wE-qee & et am g 1. This question paper consists of parts namely :
Part — (A) Computer Related Knowledge —1-20
WA — (A) TR gadt 71 —1-20
W — (B)
(1) = &= —21-30 — 21230
(2) T 3Sh — 3140 3140
(3) @I Tt — 41-70
AT — (C) . General Mathematics — 41-70
(1) Tmm= wrfdes T —71-85 \l—(C)
(2) W= 3 — 86-12 (1) General Mental Apiitude ~ — 71-85
3) TR e — 12151
@ (2) General Knowledge — 86-120
(3) Current Affairs —121-135

(4) General Knowledge of State — 136-150

2.  All questions are compulsory.

3. Indicate your answers on the OMR
Answer-Sheet provided.

4, 1 mark is allotted for each correct answer
and ¥ mark will be deducted for each
wrong answer.

5. Use of any type of calculator or log table
and mobile phone is prohibited.

6.  While using Answer-Sheet care should be
taken so that the Answer-Sheet does not
get torn or spoiled due to folds and
wrinkles.
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